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Probability of two or more people having
abirthday on the same day in a group of n people
3651

Plot[{l— m, 0, 1}

, {n, 0, 80}, PlotTheme - “Classic“]
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B=10; Plot[{1-B!/ (B* (B-n)!), 0, 1},
{n, 1, B}, AxesOrigin -» {1, 0}, PlotTheme -> "Classic"]
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B =100; Plot[{1-B!/ (B> (B-n)!), 0, 1},
{n, 1, B}, AxesOrigin -» {1, 0}, PlotTheme -> "Classic"]
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2| Probability_of same_birthdays

ni30j- B = 1000; Plot[{1-B!/ (B* (B-n)!), 0, 1},
{n, 1, B}, AxesOrigin » {1, 0}, PlotTheme -> "Classic"]
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in31]= B =10000; Plot[{1-B!/ (B* (B-n)!), 0, 1},
{n, 1, B}, AxesOrigin » {1, 0}, PlotTheme -> "Classic"]

1.0

0.8

0.6
out[31]=

0.4

0.2

- 2000 4000 6000 8000 10000

@3- B=1000000; Plot[{1-B!/ (B> (B-n)!), 0, 1},
{n, 1, B}, AxesOrigin » {1, 0}, PlotTheme -> "Classic"]
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